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. 2. A particle moves along a straight line with acceleration a(t) = 7 + 8t — 6t2. The velocity at t = 1 second is
; 3 m/sec. Its position at time t = 0 is;meters. Find both the velocity function and the position function.
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3. Suppose A(x) = f: f(®)dt. Use the graph of fshown to answer the following.
a A1 =2F+Y b. A@) = | f
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[ i. Identify the value(s) of x for which A has loca! maxima and/for
‘ minima. Identify which type of extrema occurs ai these %

value(s). 5
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4. Evaluate the definite integrals. ‘-‘g&— _‘:—&_:— |
a. f:S% dt b. f‘/_igﬁdx
> . :
216\ sockon * |y ng
2\ne” -2 orcten () - arcten (5
"o - B\h“l /I‘C[ : % = %
e “ pE-da |
) VAR OO0 Nese s g
| P saers e} A
i \%—‘rg_ q 24\ | w el
§ 1 qﬁ-"\(% Nl RERPR S,
Sl yiE Al Lt
= f o ap - T



5. Use the Fundam
s et f sin(t?) dt
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4 C IfF(0) = [ VIFEdt, find F'(x) d. L =gt at ' 4
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& Find '(x) when f(x) = [5, ‘/%_dt
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i ; 6. Estimate the value of the integral on the interval [—1,2] using the followmg with 3 equal submterva\ .
= Q@IO‘ \ '%-ﬂr)_‘7 Ll(x+1)dx L
a. Using left endpoints b. Using the midpoint c. Using trapezoids
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7. Express the limit as a definite integral on the given interval.
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